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Sr Questions Answers Choice

1 Length of common borderline of Pakistan & China is:
A. 592 Km
B. 600Km
C. 900Km
D. 750Km

2 When did demarcation of Pakistan-Iran borderline took place:
A. June 1947
B. 24 Sep., 1872
C. December 1857
D. November 1890

3 Length of common borderline of Pakistan & Iran is:
A. 832 Km
B. 810 Km
C. 900 Km
D. 500 Km

4 When was Pakistan resolution approved ?
A. 1st Feb, 1939
B. 23rd March, 1940
C. 1st June, 1946
D. 3rd December, 1943

5 In 1908, Muslims achieved a political miles tone.

A. Due to Minto-Marlay Reforms,
Muslims were granted the right to
separate electorate
B. Muslim League was founded
C. Name of Pakistan approved
D. Quaid-e-Azam present 14 points
resolution

6 What, was the population of Muslims at the time of Independence ?
A. 50 million
B. 70million
C. 150million
D. 100million

7 When did the decision of division of indo. Pak subcontinent took place ?
A. June 3, 1947
B. June 1, 1947
C. June 15, 1947
D. July 1, 1947

8 Which country of the world have lowest percentage of labour force in agriculture sector ?
A. United States of America
B. Russian Federation
C. United Kingdom
D. Japan

9 Total labour force of high income countries of the world is:
A. 828 million
B. 550million
C. 500million
D. 450million

10 Population growth rate of high income countries of the world is:
A. 1 percent annually
B. 1.5percent annually
C. 0.1percent annually
D. 1.2percent annually

11 Population of high income countries of the world is:
A. 900countries
B. 1,000countries
C. 8,0000countries
D. 1,254countries

12 World's how many countries are in high income group:
A. 25 countries
B. 26countries
C. 50countries
D. 70countries

13 According to 2000 statistics, total labour force of India was:

A. 500million
B. 550million
C. 600million

D. 621million

14 According to 2000 statistics, total labour force of China was:
A. 800 million
B. 900million
C. 872million
D. 750million

In the low income countries of the world, labour force engaged in the primary economic
A. 50 percent
B. 60percent



15 In the low income countries of the world, labour force engaged in the primary economic
activity is:

B. 60percent
C. 69percent
D. 40percent


